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QUESTION 1

A project has hundreds of old completed issues which are cluttering up the reports, searches, and dashboards. 

The project administrator has the following requirements: 

1. 

He wants to hide the old issues. 

2. 

He wants to unhide issues, if needed. 

3. 

He wants to control whether he himself sees the hidden issues, so they do not clutter his own daily work. Which three
configurations, when combined, will meet these requirements? (Choose three.) 

A. security level 

B. project permission 

C. workflow condition 

D. project role 

E. global permission 

F. group 

Correct Answer: BDF 

 

QUESTION 2

Your marketing company wants to evaluate Jira and purchased a 10-user license. A frequently changing group of key
stakeholders ?both internal employees and external customers ?will participate in the evaluation. 

If the evaluation is successful the company wants all 50 employees to start working with the tool. 

You have to manage the frequently changing group of stakeholders and need to make sure only the intended users
participate in the evaluation. 

How should you meet these requirements? 

A. Create and manage the users for stakeholders manually in the internal directory. 

B. Connect Jira to your internal LDAP directory and whitelist the IPs of stakeholders. 

C. Enable public signup and CAPTCHA but limit account creation to stakeholders. 

D. Disable public signup and grant all project permissions to Group Anyone. 
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Correct Answer: D 

 

QUESTION 3

Your user directories are configured as shown: 

The Active Directory administrators have just started the process of copying all the users from the old 

Company B directory to Company A directory. 

During this process, the group membership is being changed to allow for more fine-grained security 

control. 

A large number of migrated users complain that they do not have the correct new group memberships. 

Which configuration change should you perform? 

A. Reorder the directories so Company A is before Company B. 

B. Enable the Crowd user directory. 

C. Reorder the directories so the Jira Internal Directory is listed first. 

D. Synchronize the Company A directory. 

E. Disable the Company A directory. 

F. Disable the Company B directory. 

Correct Answer: D 

 

QUESTION 4

A team of technical writers works in the WRITE project. The project uses a single, shared workflow. 

To better match the team\\'s way of working they request a workflow change: 
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The initial status of their project\\'s workflow should be changed from Open to Awaiting Inspiration. 

You navigate to the Workflows section of the administration, update the Name of the status in the workflow 

designer and publish your change. 

What are two implications of this change? (Choose two.) 

A. The workflow scheme for the WRITE project will need to be published before the change takes effect. 

B. Awaiting Inspiration will be created as a new Status in Jira. 

C. Transitions to the Awaiting Inspiration status will fail until the post functions for those transitions are updated. 

D. Filters and Gadgets that referred to the Open status by name will be broken. 

E. The Open Status will be changed to Awaiting Inspiration in all workflows using that status. 

Correct Answer: AB 

 

 

QUESTION 5

Your organization has a Jira project for managing work on a software development project. 

As the team has grown, two groups have formed within it, working on different tasks. To help bring more focus to the
work being conducted, the team has requested a second Jira project to split the team\\'s work into two. 

Which set of schemes can likely be shared between the two projects? 

A. Custom Field and Issue Security 

B. Resolution and Notification 

C. Workflow and Custom Field 

D. Issue Type and Sub-task 

E. Notification and Workflow 

Correct Answer: C 
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